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Total No. of Questions : Total No. of Pages : |
Y ;3 H } quTiE w <
Time : 3 Hours Full Marks :
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= e

GENERAL INSTRUCTIONS :

|/t Uvs e E

All questions are compulsory. ey M .
’?Tﬂ'Wﬁ?GHFﬂT’_U_IA B, C #7 D ¥ fauifsg &1 @ve A 3§ =9 v
% 1 3% F, TUS B T UG WS UEE 2 W F, WUS ¢ H =9 WYY UoS
3 #&1 F1 7Y FUE D H U W UEF 6 FH &

This question paper consists of 30 questions divided into four Sections. A,B,C
and D, Section A contains 10 questions of 1 mark cach, Section B contains

5 questions of 2 marks each, Section C contains 10 questions of 3 marks each
and Section D contains 5 questions of 6 marks each.

94T & 3T H ad HFT 2|
Gnl],r skeiches are to be gwen in the answers of construction.

YT % I W9 % @ fev e R & aers 0 A 5

Answers of the questions must be in the context of the instructions given
therein.

W T FT9 TA-Te-IT IR & sin F fou gt oy @ R, s o e
Do all rough work only on the last pages of the Question-cum-Answer Booklet
and nowhere else,

U - A
( W99 9391 1 9§ 1079F THF 1 HF FE )

SECTION - A
( Question Nos. 1 to 10 carry 1 mark cach )

1. 39S UETE T T 96 3TR 404 ST Ho Ho FIF HITT |
1. Find the LCM of 96 and 404 by the prime factorisation method.

A6 BT 3THTS S T01<G L

ff

X 2 % 10 |
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W | 2. TRESEUR p(x) F W y= p(x) F AR A P & A v ) g
p(x) ™ YFH $I HEAT feriEn |

)
A
vl e > x
f o |
y'v
Q. 2. The graph of y = p ( x) lor a polynomial p ( x ) is given in the figure below.

Write the number of zeroes of the polynomial p | x ).

=
e IR e TR R 2 GO% e T A & |

|ré4c*h| FT F¥SIT = 5

i

—

W

(L A— MATH [P.T.0.
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uy | 3. g e T fer wee fga € R
x(x+1)+8=(x+2){x=-2}

Q. 3. Check whether the following equation quadratic or not :
x({x+1)+8=({x+2)(x=2)

i::_ "o %« (+1)+8 i(“f+l)('w_1)
O~ "":f'l‘f—'b(*l—{@. = rfl_z/é-[-;/y—-ai_

. & S0 ol 10 B
3Hd » 1g=n 13T e v T
e TS I SR FwST o)
OB STlejorar
GTF 2 S T AHT HZ 6l ibwtc =0

ARV B
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BT &7 &

Y | 4. W FHEIET : cos48° —sin42°

B 4,  Ewvaluate : cos48%-sin42°.

3ld a
Ans.,

. © : =

¢ (04 48 — Lin4g2

lea~ €04 (90 —42° ) — &in 42°

1 : .- < =
Ly 42 ~K|pids L ces LCJ'E}U=-:’_T_J:5?F\®J'

— O
/’-.\

(i T A — MATH [P.T.0.
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.. % ToT s o e W s febaEm

. -+- Write the first term and common difference.

Ans.

‘ 3 T
o XA SR (&) = gy~
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6. v Al = i wifsw

YA ] FHF G A 51 9gqH GHET 7T 4 e 6@ it}
......................... Gl '

Fill in the blanks :

Two polygons of the same number of sides are similar il their

corresponding sides are .................oeeeel. :

Ans.

£ ™ ¥ ™ i nl )
THATET & e IS aTer Z Gﬁ‘ﬂ'ﬂw

N .

2T |

9

(]

3 el = ) = o

!—«/"—/—’
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e | 7. %qnvfaﬁﬂwaﬁ?wﬁomﬁ?ﬂwm%am
£POQ = 110° &1, T /PTO T A T HIT=0
T
Q. 7. In the given figure, if TP and TQ are two tangents 1o & circle with centre
O, so that ./ POQ = 1 10°, then find ./ PTQ.
P
ik
110°
o
Q
I

Ans.
5 al U3 STa 2o
LT =50
FET £ 00T =0
iy ‘c.‘d*j % tlf\d’i ch!m-. b1 a.luq,_;,f,n Sﬁg'}
s LDPT,+¢PT@+LD@T+LF’DC§ 360
oX 6. + LPTE + ge” 4+ 110 = 260°
i~ ZPETE A+ 5907 = 266
. 2epTe = &60°-290°
70’
0
i =

: 1;* a1 TS TN é'ﬁm@—;r?%ﬁreﬁ
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r
v | 8 ToE wE W A ST
. o AT 3 e T % IS (T o SR e & |
Q. 8. Fill in the blank :
The common peoint of a tangent to a circle and the circle 1s
called it
o T F——d?r TUTT VAT & e
: o]

=
i
G5 Pl FOFI 1,54,3 mérl%

—
S —

we T | 0. T T T O U @ U AR e € 4§ ¢ 9= W e
wifeReT T & ?
Q. 9. Suppose we throw a die once. What is the probability of getting a number
greater than 4 7

é 1 T ‘ﬂ'\r.-‘ * IM‘I =
f:: e B 1 qwuw—r\ a—ﬁ g-,ﬂ x| = Ui '2'!
a | éﬁ TeETT ) Fel TN = 2

=

SET FTAa A afvoTHT ARt KT FAvo =

™ o il

o A ﬁmﬁ;ﬁwmtzg

4 & =0 FHysa JlLA S F gTE
,:,@: 3ER twuu/?ﬁ@ FiveeT|

= HTTa A ﬁﬁ?ﬁ—’w
- =1 __h_*_
o &
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wo | 10, 9 R UE W aiERAT % A @ T e $ o FE 6 7
I

What do we call the graph which has been drawn between class interval

and cumulative frequency ?

Ans.

& . © .
&It Er'?i =R ‘t’“q %itr =t &Tvear & efﬁ?r?ﬁ%
T STTAvq ohl -

EE e |

I T

A—MATH [16019 [B.T.O.
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EELERES -
( woq wEm 11 ¥ |5 7 T 2 3 W E )
SECTION-B
( Question Nos. 11 o 15 carry 2 marks each
EEE]

1, ﬁﬂwnﬁﬁﬁmﬁmwmﬁﬂaﬁﬁpmﬁﬁﬁqﬁ g(x
5 U ITEA TE I FITHAT
plx]:x3—3x2+5x-3, g1.f]=x2—-2.

Q. 11. Using division algorithm, divide the following p

polynomial g [ x

) § AT

olynomial p ( x ) by the
} and find the quotient and remainder :

plx)=x>-3x%+5x-3, glx)=x?-2.

s Y BIX) = ~
Ans,

_ 8% 5x-2
Fa gy = e =2

S 2))8’}— YT EN =3 (’*’f -3
..]..

- 27

+
-—.3;{1+7wc~1
L. +

i

i

B
= @
7~-9

ade EHRIEBEl = X

o=
Al 2Tghbc

-

(VRAAH p— vty [16019)]
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e | 12. Wﬁﬁﬁﬂ%ﬂ:{:‘Qtan245“+cuﬁz3[}"—sin250°,
Q. | 12. Evaluate: 2tan® 45°+ cos® 30° - sin® 60° .
S e SRV DB e e e
= DX(I}1+(£]2 (j?; ):’—
= A B
-8 ) BN R A
i T
= Bl = S e
L'f_
X R &=
4}.
3F0
= .&1 = 2“
= 5
f-
&
||||||'|||||[||| A — MATH [FT. 0.
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Pzl myﬂﬂmﬁﬁqmmﬁmﬁmswﬁn4mﬁm@w%
IQ. 13. Find the point on the y-axis which is equidistant from (6,5 ) and
(=4,3)

el g 3¢ WF&WT"? P o, Y ) 673 AGS)
) S B (4, 23) = +i¥1§{'{+q %’
AP = B8P

“J("*’n ) =16t +GJ H)
0~ JQO~6)'+ (“E]-fzj :JED*'E"JJ 1_(345)1
ot Jicg - 10y +253 0+ )"+ - 6y+9
o~ J3 64 &}1-%4-55 = (a7 +y=6y1q
0““"\(’22—1%/1-5! =Jd164 y>-6y+9

o~ Jy °- |03+5| J‘jl E}‘al-l-lEa
Hﬁ'*ﬁ’ﬁ?}%

|
-. oY cj/z_pﬂj =t ‘f‘fﬂl}: Sl
o~ -0y 46y T =3( G)
6™ -—CI‘C'J = -394

. § =i "
‘J STE O ] 1‘61-,,-1 T;z_*_fr F ?ﬁm ~(0,4)=(0:9)
79 | 14, I{HF?IFHQMBC \DEF ¥ 3R 3% &BIhe e a4 THI2 AT 121 FHI
¥ of Bo= 112 ¥ &, |t EF 316 S|

Q. 14, Let AABC ~ ADEF and their areas are 64 cem? and 121 cm’ respectively.
If BC= 11-2 cm, find EF.

| -+ A ARC ~NADEF

o

?mﬁqrvqﬂé%p =T

%;i{uﬂ 1) %/;ﬁp7‘

an AABC =
an A DEF CF

|||ﬂlﬁllﬂll|| A — MATH
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|2 = /
;ﬂjéq = iz r el I
2] EE ey K F
il EF
gy BXEE B II=2X)]
X K X EF = L1EZXn
et 14 ro
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“TE'E};, s ‘“755 = 1S5 e,
@
l
L A— MATH [F.T.0,



JAC

18

; znaﬁ%ﬁwﬁ4mw%|ﬁwﬁﬁwmm

A lot of 20 bulbs contains 4 defective ones. One bulb is drawn at random

FererTeT ST & | TR ST Wi € i
(a) TE Soel TIE Bl ?
(b) TE G TXE T 8l ?

ayerET
5zu?ﬁaﬁaﬁﬂmﬁﬁr&ﬂ%ﬁn§?ﬁﬁﬁmﬁmm%t
ﬁmfﬁfﬁaﬁm’rma:ﬁﬁ:rﬁwmﬁm:
(a) AT T H AR
(b) TATET HI I

from the lot. What is the probability that
(a) this bulbis defective ?
(b) this bulb is not defective ?

OR
One card is drawn from a well-shuffled deck of 52 cards. Find the
probability of getting
(a) a king of red colour
(b) the jack of hearts.

I | ¢ -
Ans. n

()

<)
(b)

e FeT R s
7T el Sedl LXeHAT = 20

_ — _
Za<Ta &oal st Ewes| = 4

s FSIET I eEE e ST &5 g
PLE) = =0 16 Eﬂv?ﬂ FT FHvedd |

.ﬂ,;iﬂ E‘I:’Eﬁi B 1 TIRES] T g

-_— -
— -

CAEnE
2 S =

e
ARG

Y e
o TISTheTl Jid] Secg ey l4a

; 7] fkcf’"‘l'
ggear PE) = 1 = PE) (¥
- il
5

—

= S = %
= 5

i (L

A — MATH
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; =UE - C
(Wﬁmxﬁﬁzaﬁmzﬂﬁﬁ%)

SECTION - C
( Question Nos. 16 to 25 carry 3 marks each )

v | 16. Mwﬁﬁalamﬁﬁaﬁﬁwﬁmﬁzﬁﬁazmﬁmﬁﬁ&ﬁ

¥z % G W HE 8 ﬂmwﬁwmaﬁwﬂnnﬁm

¥ =7 T W ST HE F 2 ?
' HAdl

feg e ToF Y3 U SRHd T 2zl

Q. 16. An army contingent of 616 members is to march behind an army band of
32 members in a parade. The two groups are to march in the same

number of columns. What is the maximum pumber of columns in which
they can march ?

OR
Prove that Jg is an irrational number.
ERl FHala)
Ans. i e <
=711 JE b givHE HXed = |

Y

A ﬁ;___l'i_ {5137 P Al %Héﬁ’%jkmﬁ}

v *{:1,01-*%{51;5 IE T AT q, %= 0

a@i A GOl &Y Oy
BT

2
e s )

o A P> /

D% f:_l = 5;,-':‘-‘L

i
31a <l

—
o fal

. o)

. . pLEHT JIEHRAL =

o p &THYT TFETARAT =2 |
=Tl P S0

. # )

. P'— = E;CL-L
oY (Sm]L: chL

LT A— MATH
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[ %L 5
0% B & whys = sSq
S
R e = P
o = Er
=
() S = 9
& B =
. v FL = 5wm?

N —_— — S

S aEy o ——at =)
q, BT HT T[eHva3 &5 & |

3TA: P ASTT qQ & D66 ZATFRIS 5 @0

ﬁ%@ [T '% 1

S o T T T B }_ Teb = TTT?;%—&S'{ Q?—WW%I
N i R oy

3Td: (g P STUYHE Fwea < | paoved

-

?7.';.

" /
——

Mg = s (P10
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U¥d | 18, muﬁﬂaﬁxﬁ%ﬁﬁﬁﬂ{
+y=10
y—x—"4
( U WS 24 9 WS UTH U9X & FETT I )
Q. 18. Solve graphically :
x+y=10
y—=x=4
( Use the graph paper given on Page No 24 |

=ty eio =0

Ans. ‘a{ i 4 i
aie 'T_DH C\E_
e S o )
H“ O — ¢
[]4]|s]e
EIREE
%Tﬂ T @
| 3 * if
i : é{; & =5
| se¢)| B[
sEnEE
. O e
S EHTRYOT 2 HI VX 2,7) 9¢ HlA=
r ©,7) 9¢ 31 =
e =R = =y

MR A—watH  [16019] [P.T.0.
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U9 | 19. 39 A.p. % UYY 51 USI T I0T T HITC EF FE I A U5 FHH:
14 37X 18 €|
Q. 18, Find the sum of first 51 terms of an A.P. whose second and third terms
are 14 and 18 respectively.
SMI«r AP &T Z3T U = |4
Ans. o sz Hf-
s Add =14 ==
=S AL PRy A TERE e o IR
0~ Oy = I8
e O+2d=18 —@h
H o
T e . OB A @) &) ETeT Oy
. A Al = 4
{‘}ﬁ+2 =1
el ;
X C‘i o= e 4 @
o > | .
A ol &1 7 . () B I oy
‘S ot = (g
¥ O t+4 =14
Ao = 14~W'
AP Tl c% a7+ 11——;—
S 131 BT STRTER) = [:nm(n 1)51“
i 1 o
$5|~ EI[ZXID-I{SIE;)}MJ
.HS[(
=1 =20+ Shx
= +)
=5l Ro+200
= )
I
= E_fx_-;,f@
e
= S| HTo
= 5610

LT A — MATH [P.T.0.



we | 20, Tog Fiew 6
tanf t0
I—aé::-tﬂ lfotana—l-t-secﬁ.cusccﬂ
Q. 20. Prove that
113;19?9 1fﬁﬂ=l+secﬂ.cnsecﬁ
Sk 180 e Heds = tan@ 4 cot @
A0S [—cot & | —tan@
. |
L +tan @ +_Tane
= . | — tan®
+tan© t
= +Lan@&=l  Hanfk 1"[:64!':9
+tan(
- 4tan@ x too® , |
ton@- | Lans (1~ tand)
- “Ef:ﬂﬁp_@ i
tan@- | [-{QHG & /]
— Hens .
= ,"tﬂ*ﬁs@' — [
tan® (toan@-1)
Q{‘-__Clr‘r}tﬁ/wt](‘t&ﬁlﬁ +“tﬂn(9+|_}
= tang @cn)d—? lp T coals SN O
_ tan’® . ool 4 1 |7 cosB.sine
4+ an® ‘LD'/AG} + o = et {'ESI'.E‘H ‘
na faam;£anm COSW. SN0
- dar@o+ | o
—me- ’b cos E:m@+ ]'
-~ tane+)+Cotl e e
= sine o | 4-Xos0 = S€c@- €O @{;
Sin = . Rl
= CZ%$£+LD&*,5m;‘+C051m = | <# 5 QL8
il (0w Sn@ Z KeHS- Fﬁ__a_ie_ﬁ
————

TR

‘A — MATH
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W | 21. A A AR BWEE: (-2,-2) AR (2, -4 ) &, 7@ fag p & v T
TSI AT AP:%AEE‘T,N&FW@EHHW&W%‘N
0. 21. IfAand Bare (-2, -2 ) and ( 2, -4 | respectively, find the coordinates of P
such that AP = %AB and Plies on the line segment AB,
W' AP Z S AR
Ans. 7 A Rt - .
ta 'h'lkl_z' R l_ ol (e R}
oX AR=EZ (APt ER) 4% B(2,-9)
7
ox 7AP= 3AP+3BP
o TAP=-23AP = QBP
o™ 4 Aap= IBP
o AR _ B
Bp 4
W AR R =314
A= ‘glzhl
= Tkl
= [ 4= —+4
= B o S 4
: i > c_ -
cL [EITSTR By pob T ond = (%, )
__( 'T1+mjwl mﬂc}!l* .Hﬂ']td'j\
=1 el it
T, ), ™A™, )

S T | BX=4+¢x-2
f\ 3+ 4 2+ 4
@ - (ﬁ = 5 —12 -9 )
—e ’ - e e = —— e

5

T A— MATH [P.T. O.
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b | ; iR (-15 B, @ 0y
Q. 22, Find the area of the triangle formed by the points
and R (-3, 4 ). =
W'PQR% J%P(\'Erg];&'@","z
w  Hy = e & ﬁlh‘?’
"Hn'= By ‘31:*1

ST RERA)
r—}{B:-‘"‘?‘:j ‘;J:;::-‘% ']‘]

Sy .’I}PEFR? o a‘_’lbht‘i .
S O R SRR ACE IO AT I

Frs €2-4)+ ¢ (#-3) 403) {2 -c2)]

K
3
['~5X—G+EXI ~3(3+:_)J

M

I
T L -8 %S )
1 5
£ (Q*-E—ls)
1 .
= A 1s-15)
2 L3 a0
2
= S
2

B e L
= 0 G317 HTH

T —
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AR 8 HHI 741 F1% 4 9O % UF GuEEE Gys w9 S 9w

IR

534 23.
UF 3 S A1 A Firag et gen 1 TH wHEEE FYs w dn
TSI 1% T 2T
HYAT
5 Wt B Ay 9w A7 wet TEn Wit S wEr 600 ¥ F0T W
gt BT |
) 23. Construct an isosceles triangle whose base is 8 cm and altitude 4 cm and
then another triangle whose sides are I%limes the corresponding sides
of the isosceles triangle.
OR
Draw a pair of tangents to a circle of radius 5 cm which are inclined to
cach other at an angle of 60°,
3T
Ans.

e
12.C A0"
(____LPI .

o |

; SRS r./’f’r’

AN
| [
|
|
|
'ELFI |I
A—MATH [16019 [P.T. 0.
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24. Tog Fifs T forelt o & ofome s Sl ol @ &

24, Prove that the parallelogram c1rcumscnbmg a circle is thombus.

Ans.

P ZE  cON)FE am® A —FE G

(S gRItEa T rﬂ'l‘ﬁ‘{{?ff‘rr
AE(L%W-}A[_;*{-J){#&” </

3
s e Ac %') ;G'
& 1 & ¢ ABCD T AT /a
2 s
He10) C:‘TTEI_T‘SNT % 5 ‘C?—J: 1 _.-. —-E_F_ — .
i 5 s’ E] gl ; “‘_<Ei| !t} J-I—-$_ "t":'il'__fTa?E["

DR = m< H_@
SRR S () @, azr Qv BT RS Uy
AP+ BP+CR+ DR = A%+BO+ca+DS
o _CAiPE BRI HERF .o = (hay D3) +(BO4CA)

o AR Bted £ AL+ B
a AR+ AR T AD4+AD
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Q. 25. The wheels of a car are of diameter 80 cm each. How many complete
revolutions does each wheel make in 10 minutes when the car is

travelling at a speed of 66 km/h ? [ x =¥ )

OR
Find the area of the shaded region in the given figure, where a circular
arc of radius 6 cm has been drawn with vertex O of an equilateral triangle
OAB of side 12 ¢m as centre. '
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SECTION -D
( Question Nos. 26 to 30 carry 6 marks each |

‘H’-‘F{ 26.

Q. 26.

=1 Team T & Oe w1 ARa @, & e 99 6 W= g S
o7 T
4x? +4y3x+3=0,

HAYET
U Faer 3.5 WA e 9167 U Wi & IMEW 1 g, A 3 Fe g
TF FGIS W IAERIT &1 29 fEee % g F9E 155 9E 81 39
@A 1 F7I0] TR &% 7 FHI |
Find the roots of the guadratic equation if they exist applying the
guadratic formula :

4x2+43x+3=0.
OR
A toy is in the form of a cone of radius 35 cm mounted on a hemisphere

of same radius. The total height of the toy is 155 cm. Find the total
surface area of the toy.

Ans.

a4, b:d—ﬁ A211 ¢ = 3

ElE TR (D) = b— 40 ¢
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= %B8'= 4 ¢
=0
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1w | 27, TR % U % IW UF fag @ A9 % GE FART S SFEAHA B0 30° N
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Q. 27. From a pdint on a bridge across a river, the angles of depression of the
banks on opposite of the river are 30 and 45° respectively. If the bridge
is at a height of 3 m from the banks, find the width of the river,
OR
The angles of elevation of the top of a tower from two points at a distance
of 4 m and 9 m from the base of the tower and in the same straight line
with it are complementary. Prove that the height of the tower is 6 m.
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28. 95 Wi o 3fg fFer Bs & v oo &1 99 37 8 gene & A &
TN & AR BT, A Yeel WS 1 YE{E 07 FHHI0T Bl € |

Q, 28. Prove that in a triangle, if square of one side is equal to the sum of the
squares of the other two sides, then the angle opposite to the first side is
a right angle,
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| 29. A drinking glass is in the shape of a frustum of a cone of height 14 cm,

The diameters of its two circular ends are 4 cm and 2 cm. Find the
| capacity of the glass. | Take © = 2,?% ]
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Q. 30. Find the mode of the following data ;
Monthly
consumption 65-85 85-105 105-125 125-145
in units
Number of 4 5 13 50
CONsSuUumers
145-165 165-185 185-205
14 8 q
IR o €.« :
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